Econ 200

Professor Leffler

Exam 2

Fall 2004


ANSWER 3 OF THE FOUR QUESTIONS.  Each question in total is worth up to 32 points.  4 bonus points are obtained by simply putting your name and your TA name and quiz section letter on your bluebook.  Explain each answer.  Your score depends solely on your explanation.  If the question or your answer uses a “term of art” (e.g., elasticity. demand, comparative advantage, specialization, …)  be sure to define or explain the term.  You must use a COMPLETE EXAM BOOK and a PEN.  
1.    A.  Do you agree with the following?  “Economists agree that while trade raises national income
(available goods), it leaves most workers poorer.”  Seattle Times Tuesday 11/9/04
B.  T/F  The most efficient technology for producing a particular level of output does not depend on the price of the product but it does depend on the prices of the resources used to produce the product.

C.  T/F An increase in the “real” interest rate will likely reduce the value of Wal-Mart stock but an increase in the interest rate because of an increase in expected inflation should have little impact on the value of Wal-Mart stock.  

2.    A. T/F Specialization in production without trade will not be efficient.

B.  Why do most Americans “rent” themselves out rather than making their own decisions about the use of their work hours? 

C. T/F The revenue from an increase in a sales tax will, other things constant, decline over time.

3.    A. T/F  If people are different, everyone will have a comparative advantage in some production
activity.

B. T/F An increase in the price of pears will cause an increase in apple farmers’ income, but income increase will fall over time.

C.  T/F A farmer who owns his land will likely have lower costs than a farmer who leases his land.  

4.   A.  Do you agree with the following:  "The U.S. steel companies operate at a disadvantage against
foreign producers.  Even though our companies may be just as efficient as the foreign company, the U.S. companies are burdened with relatively old and obsolete plants.  Therefore, the steel industry must be protected from cheap foreign imports.  If steel does not receive protection, foreign imports will drive American producers out of business, thus reducing the number of jobs available to Americans."  Fortune Magazine. 
B.  T/F An increase in the interest rate should increase the price of vintage (already aged) Port (a type of fortified wine) but lower the price of new Port (which takes a few years to become drinkable).     

C.  T/F The amount of the shortage caused by a price control below the market clearing price will increase if the price control is maintained for a period of time. 
